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Question &

Comsierte it spmion 2= (3. )05, Lt = ) bethe s tothe e

equation with the nital condition f(0) = 1. The function / is defined for all real numbers.

@) A porion of e sope fied ofthediffrenisl euation s gven bl Skechthe soution curv hough he
poit (0.1).

(b) Wit an qusion o the line tanget o thesltioncrv nprt 0t e ot (01). Usethe usionto
spprovimaic f(02)

© Find y = f(x) the paticlarsolution tthe iffetal cqution with the sl condion /(0) = 1

@ 1 solution curve

2es0-2 tangent line cqustion

spproximtion

O,

‘An cquation for the tangent line s y = 25 + 1
F02)~202)+1=14

© &oGyeoss 1 separation of varisbles
2: amiderivaives
J555 = Jeoswar 6:4 1 consant of imegration
Zfa-y|=sinxsC 1 uses il ondiion
h2-%in0+C > €2 Lisohes for

inf3-y|=sinx-in2
Becuuse 5(0) =1, y <350 [3- 5] =3y

Note: max 3/6 [1-2000]if o
constant of negration

Note: 0/6 ifno separation of varisbs
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Question s

e i 2010, il oind H01a0sof i waste. Te i i I s
e of ke i St e s it bk e e i
cnmion - L1 300 trte s 20 . W i eased o, s s n e o
et 10

(0 Us e i g e g 1. o it e st s vt el

conainsat the end ofthe first 3 months f 2010 (ime ¢

o &
) Fing L in s of 1 Use L 0 detenmine whethryous amwe i ot (o) s dersimat o

7

 overestimate of the smaunt of slid wast thatthe landil contsns at e

.

T

© Find e oo I = (0t il sqion 2
condion (0) - 140

'
LV~ 300) it il

' '
@ (0) - 300) = (1400 - 300) = 44

“The tangent ine i = 1400 + 44t

: :
(L)« 400 (1) - 11
) ()
& a1 W
L5002 L[
& 1 - answer with reason

Thereors L 0 onthe el 021

The answer in part () is an underestimte

@ 2o Lor-ao) scpmtion s vaibles
ivive

'
1 1 K
St =[5 524 1 - consant of gration
L 1 s il ondion
o 20j- e e

(1400 -300) = L0)+C > n1100) =

1005 imegration

- Note: 05 i o scparaton of varisbles

Wie) =300+ 11006, 055520
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Note: max 25 [1-1-0:0-0] f o constant of




